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CHAPTER 16

QUESTIONS

1.
Income measurement for financial reporting purposes is designed to measure as fairly as possible the increase in equity arising from operations during the period. Income measurement for tax purposes is selected by the company to minimize its income tax liability and by the government to raise revenue and to meet changing economic and policy objectives. These different objectives frequently result in different accounting methods for financial reporting and for income tax purposes.

2.
Certain expenses will never be deductible for tax purposes because of provisions within the tax law. These are referred to as permanent differences or nondeductible expenses. Temporary differences are differences between taxable and financial income that result in taxable or deductible amounts when the reported amount of an asset or liability in the financial statements is recovered or settled, respectively. A temporary difference that results in a larger current-year taxable income will reverse in a future year and result in a deductible amount to offset against other taxable income. While a nondeductible expense is never deductible for tax purposes, a temporary difference is deductible in future periods.

3.
A taxable temporary difference is one that will result in taxable amounts in future years. Taxable temporary differences involve reporting high deductions for tax purposes now with corresponding low deductions in future years. An example is the 
difference between straight-line depreciation for financial reporting purposes and MACRS for tax purposes. A taxable temporary difference can also stem from reporting low revenue for tax purposes now with corresponding high taxable revenue in future years. An example is the difference between the installment sales method for tax purposes and the accrual method for financial reporting.

A deductible temporary difference is one that will result in deductible amounts in future years. Deductible temporary differences involve reporting low deductions for tax purposes now with corresponding high deductions in future years. An example is the difference between reporting an estimate of future warranty costs as an expense in the year of the sale for financial reporting and waiting to record the deduction for tax purposes until the actual warranty costs are paid. A deductible temporary difference can also stem from reporting high revenue for tax purposes now, with corresponding low taxable revenue in future years. An example is the difference between reporting the receipt of advance rent payments as revenue for tax purposes when they are received and waiting to report the revenue until it is earned for financial reporting purposes.

4.
The no-deferral approach is simple, but it violates a fundamental precept of accrual accounting: Reported expenses should reflect all current and future outflows resulting from a transaction. The no-deferral approach ignores the fact that transactions in one period often have foreseeable tax consequences in future periods.

5.
The major advantages of the asset and liability method are that the assets and liabilities recorded under this method match the conceptual definitions for these elements and that the method allows for recognition of changes in circumstances and changes in enacted tax rates.

6.
One drawback of the asset and liability method is that in some ways it is too complicated. Many financial statement users claim that they ignore deferred tax assets and liabilities anyway; thus, efforts devoted to deferred tax accounting are just a waste of time.

7.
When rate changes are enacted after a deferred tax liability or asset has been recorded, the beginning deferred tax account is adjusted to reflect the new enacted rates. The income effect of the change is shown as either an addition to or subtraction from income tax expense for the period.

8.
A valuation allowance is necessary when available evidence indicates that it is more likely than not that some portion or all of the benefit of a deferred tax asset will not be realized.

9.
The Board indicated that “more likely than not” means a level of likelihood that is at least more than 50%. The FASB did not establish specific criteria for evaluating more likely than not but did suggest that if a company has a history of operating losses, has had tax carryforwards expire unused, or has prospective future losses even if the company has been profitable in the past, it may be more likely than not that the benefit of deferred tax assets may not be realized.

10.
Some possible sources of income through which the tax benefit of a deferred tax asset can be realized are as follows:


(a)
Future reversals of existing taxable temporary differences


(b)
Future taxable income


(c)
Taxable income in prior carryback years

11.
Current federal tax laws provide for an optional 2-year carryback and a 20-year carryforward of net operating losses. If the 
carryback provision is used, the earliest carryback year (second previous year) is used first. If there is still unused loss, it is carried forward to the immediately succeeding year. Any remaining unused portion of the loss is then forwarded to the next year and so on until 20 years have passed or until the loss is completely offset against income, whichever comes first.

12.
Deferred tax assets arising from NOL carryforwards are classified according to the expected time of their utilization. If the NOL carryforward is expected to be used in the coming year, the deferred tax asset is classified as current. Otherwise, it is classified as noncurrent.

13.
FASB Statement No. 109 requires scheduling when differences in enacted future tax rates from one year to the next make it necessary to schedule the timing of a reversal in order to match the reversal with the tax rate expected to be in effect in the year in which it occurs.

14.
Prior to FASB Statement No. 109, income tax carryforwards could be recognized only if future income was assured beyond reasonable doubt. If Statement No. 96 had been implemented, income tax carryforwards would never have been recognized. However, under FASB Statement No. 109, income tax carryforwards can be recognized unless it is more likely than not that future income will not be sufficient to realize a benefit from the carryforward.

15.
Changes in the amount of deferred tax assets and liabilities do not require or provide cash. However, they do affect the amount of income tax expense that is deducted in arriving at net income. Therefore, a statement of cash flows must adjust for this fact. Under the indirect method, changes in the deferred balances are reported as adjustments to net income in arriving at cash flow from operations. Under the direct method, the actual income tax payments or refunds would be reported rather than the amount reported as income tax expense or benefit.

16.
Income tax carrybacks and carryforwards reduce the amount reported as an operating loss for the current period. However, they do not provide cash flows until carryback refunds are received or future tax payments are reduced due to the existence of the carryforward. The statement of cash flows must show these carrybacks and 
carryforwards as adjustments to cash flow from operations.

17.
Current deferred tax assets and current deferred tax liabilities are netted against one another and reported as a single amount. Also, noncurrent deferred tax assets and liabilities are netted and reported as a single amount.

18.
In many foreign countries, generally accepted accounting standards are based on the income tax laws of the country. Thus, in these countries very few, if any, temporary differences exist between reported income and taxable income. 

19.
In 1996, the IASB revised IAS 12; the accounting required in the revised version is very similar to the deferred tax accounting practices used in the United States.

20.
The partial recognition approach results in a deferred tax liability being recorded only to the extent that the deferred taxes are actually expected to be paid in the future. The reasoning behind the partial recognition approach is that if a liability is deferred indefinitely, the present value of that liability is zero. Despite its conceptual attractiveness, the partial recognition approach is on the verge of being dropped in the United Kingdom in the interest of international harmonization.

PRACTICE EXERCISES

PRACTICE 16–1
SIMPLE DEFERRED TAX LIABILITY


Income statement


Sales



$
100,000


Income tax expense:



Current ($70,000 ( 0.25)

$17,500



Deferred ($30,000 ( 0.25)


7,500


Total income tax expense




(25,000)


Net income



$
75,000

Income Tax Expense

25,000



Income Tax Payable


17,500



Deferred Tax Liability


7,500

PRACTICE 16–2
SIMPLE DEFERRED TAX ASSET


Income statement


Sales



$
100,000


Expenses




(75,000)


Bad debt expense




(5,000)


Income before income taxes



$
20,000


Income tax expense:



Current ($25,000 ( 0.30)

$
(7,500)



Deferred benefit ($5,000 ( 0.30)


1,500 



Total income tax expense




(6,000) 


Net income



$
14,000

Income Tax Expense

6,000


Deferred Tax Asset

1,500



Income Tax Payable


7,500

PRACTICE 16–3
PERMANENT AND TEMPORARY DIFFERENCES


Pretax financial income



$
50,000


Add (deduct) permanent differences:



Nontaxable interest revenue on municipal bonds

$
(10,000)



Nondeductible expenses


17,000

7,000

Financial income subject to tax



$
57,000


Add temporary difference on warranty expenses




8,000

Taxable income



$
65,000
1.
Financial income subject to tax = $57,000

2.
Taxable income = $65,000

3.
Income tax expense = $57,000 ( 0.30 = $17,100

4.
Net income = $50,000 – $17,100 = $32,900

PRACTICE 16–4
DEFERRED TAX LIABILITY


Income Tax Expense

3,780



Income Tax Payable


3,500



Deferred Tax Liability


280


Income tax expense: ($10,000 + $800 unrealized gain) ( 0.35 = $3,780


Income tax payable: $10,000 ( 0.35 = $3,500 

PRACTICE 16–5
DEFERRED TAX LIABILITY


Income statement for 2008:


Revenue



$20,000


Depreciation expense (straight line)




6,000

Income before income taxes



$14,000


Income tax expense:



Current [($20,000 – $10,000) ( 0.40]

$
4,000



Deferred ($4,000 ( 0.40)


1,600


Total income tax expense




5,600

Net income



$
8,400

2008



Income Tax Expense

5,600




Income Tax Payable


4,000




Deferred Tax Liability


1,600


2009



Income Tax Expense

5,600




Income Tax Payable


4,800




Deferred Tax Liability


800


Income tax payable: ($20,000 – $8,000) ( 0.40 = $4,800


2010



Income Tax Expense

5,600




Income Tax Payable


5,600


Income tax payable: ($20,000 – $6,000) ( 0.40 = $5,600


2011



Income Tax Expense

5,600



Deferred Tax Liability

800




Income Tax Payable


6,400


Income tax payable: ($20,000 – $4,000) ( 0.40 = $6,400


2012



Income Tax Expense

5,600



Deferred Tax Liability

1,600




Income Tax Payable


7,200


Income tax payable: ($20,000 – $2,000) ( 0.40 = $7,200

PRACTICE 16–6
VARIABLE FUTURE TAX RATES


Income Tax Expense

3,836



Income Tax Payable


3,500



Deferred Tax Liability


336


Income tax expense:


Current
$10,000 ( 0.35  = $3,500


Deferred
$800 ( 0.42 = $336

PRACTICE 16–7
CHANGE IN ENACTED TAX RATES

As of the beginning of 2010, the accumulated excess of tax depreciation over book depreciation is $6,000 composed of a $4,000 ($10,000 – $6,000) excess in 2008 and a $2,000 ($8,000 – $6,000) excess in 2006. This means that the existing deferred tax 
liability is $2,400 ($6,000 ( 0.40).

1.
Deferred Tax Liability

300



Income Tax Benefit—Rate Change


300


Change in deferred tax liability: $2,400 – ($6,000 ( 0.35) = $300

2.
Income Tax Expense—Rate Change

360



Deferred Tax Liability


360


Change in deferred tax liability: ($6,000 ( 0.46) – $2,400 = $360

PRACTICE 16–8
DEFERRED TAX ASSET


Income Tax Expense

1,845


Deferred Tax Asset

405



Income Tax Payable


2,250


Income tax expense: ($5,000 – $900 unrealized loss) ( 0.45 = $1,845


Income tax payable: $5,000 ( 0.45 = $2,250 

PRACTICE 16–9
DEFERRED TAX ASSET


Income statement:


Revenue



$
60,000


Postretirement health care expense




(15,000)


Bad debt expense




(10,000)


Income before income taxes



$
35,000


Income tax expense:



Current [($60,000 – $2,000) ( 0.35]

$20,300



Deferred benefit [($8,000 + $15,000) ( 0.35]


(8,050)



Total income tax expense




12,250

Net income



$
22,750

Income Tax Expense

12,250


Deferred Tax Asset

8,050



Income Tax Payable


20,300

PRACTICE 16–10
DEFERRED TAX LIABILITIES AND ASSETS


Income statement:


Income before trading securities, restructuring, 
and taxes



$10,000


Unrealized gain on trading securities ($2,300 – $1,000)




1,300


Restructuring charge (impairment write-down)




(3,000)


Income before income taxes



$
8,300


Income tax expense:



Current ($10,000 ( 0.35)

$
3,500



Deferred expense ($1,300 ( 0.35)


455



Deferred benefit ($3,000 ( 0.35)


(1,050)



Total income tax expense




2,905

Net income



$
5,395

Income Tax Expense

2,905


Deferred Tax Asset

1,050



Deferred Tax Liability


455



Income Tax Payable


3,500


It must be assumed that future income will be sufficient to allow for the full 
utilization of the $3,000 deduction from the decline in the value of the manufacturing facility. The unrealized gain of $1,300 on the trading securities will provide a portion, but not all, of the necessary future income.

PRACTICE 16–11
DEFERRED TAX LIABILITIES AND ASSETS


Income statement:


Income before trading securities, depreciation, 
and taxes



$
4,000


Unrealized loss on trading securities ($1,000 – $700)




(300)


Depreciation ($10,000/4 years)




(2,500)


Income before income taxes



$
1,200


Income tax expense:



Current [($4,000 ( $3,300) ( 0.40]

$
280



Deferred expense [($3,300 – $2,500) ( 0.40]


320



Deferred benefit ($300 ( 0.40)


(120)



Total income tax expense




480

Net income



$
720

Income Tax Expense

480


Deferred Tax Asset

120



Deferred Tax Liability


320



Income Tax Payable


280


The reversal of the temporary depreciation difference will create $800 of additional taxable income in future years. This is a probable source of future taxable income against which the $300 unrealized loss on the trading securities can be offset. So, in this case there is already strong evidence, without additional assumptions, that there will be sufficient future taxable income to allow for the full utilization of the unrealized loss.

PRACTICE 16–12
VALUATION ALLOWANCE


The amount of the $900 loss that can be used as a tax deduction in future years is $400. Thus, even though a $405 ($900 ( 0.45) deferred tax asset has been 
recognized, only $180 ($400 ( 0.45) of the future benefit will be realized. The necessary adjustment is as follows:


Income Tax Expense

225



Valuation Allowance ($405 – $180)


225


The net deferred tax asset is now $180 = $405 deferred tax asset – $225 valuation allowance.

PRACTICE 16–13
VALUATION ALLOWANCE

The amount of the future $8,000 bad debt write-off and the future $15,000 retiree health care expenditure that can be used as a tax deduction in future years is limited to $20,000. Thus, even though a $8,050 ($23,000 ( 0.35) deferred tax asset has been recognized, only $7,000 ($20,000 ( 0.35) of the future benefit will be realized. The necessary adjustment is as follows:


Income Tax Expense

1,050



Valuation Allowance ($8,050 – $7,000)


1,050

The net deferred tax asset is now $7,000 = $8,050 deferred tax asset – $1,050 valuation allowance. More precise estimates of the timing of the future taxable income would be needed to determine how the valuation allowance should be allocated 
between the bad debt and the postretirement health care portions of the overall 
deferred tax asset.

PRACTICE 16–14
NET OPERATING LOSS CARRYBACK

The $50,000 net operating loss is first carried back two years to recover the tax paid on the $40,000 taxable income reported in 2006. The remaining $10,000 ($50,000 – $40,000) NOL is carried back to 2007. The income tax refund is computed as follows:


NOL Carried
Taxable
Income Tax
Tax



Back to

Income

Rate

Refund

2006
$40,000
30%
$12,000


2007
10,000
35
    3,500

Total refund


$15,500

Journal entry:



Income Tax Refund Receivable

15,500




Income Tax Benefit—NOL Carryback


15,500

PRACTICE 16–15
NET OPERATING LOSS CARRYFORWARD

1.
The $100,000 net operating loss is first carried back two years to recover the tax paid on the $40,000 taxable income reported in 2006. The remaining $60,000 ($100,000 – $40,000) NOL is carried back to 2007. The income tax refund is 
computed as follows:


NOL Carried
Taxable
Income Tax
Tax



Back to

Income

Rate

Refund

2006
$40,000
30%
$12,000


2007
30,000
35
  10,500

Total refund


$22,500
PRACTICE 16–15
(Concluded)


Journal entry:



Income Tax Refund Receivable

22,500




Income Tax Benefit—NOL Carryback


22,500


No assumption is necessary here; this is a straightforward request to the 
government to refund cash paid for income taxes in prior years.

2.
The two-year carryback used $70,000 ($40,000 + $30,000) of the net operating loss, leaving $30,000 ($100,000 – $70,000) as an NOL carryforward. The future benefit of the NOL carryforward in terms of future tax reductions is $12,000 ($30,000 ( 0.40). The journal entry to record the NOL carryforward is as follows:



Deferred Tax Asset—NOL Carryforward

12,000




Income Tax Benefit—NOL Carryforward


12,000


One must assume that it is more likely than not that future taxable income will be sufficient, within the 20-year carryforward period, to allow the company to utilize the $30,000 in NOL carryforwards.

PRACTICE 16–16
NET OPERATING LOSS CARRYFORWARD

Treatment of NOL in 2009:


NOL Carried
Taxable
Income Tax
Tax



Back to

Income

Rate

Refund

2007
$15,000
35%
$  5,250


2008
20,000
35
    7,000

Total refund


$12,250
The carryback period is just two years, so the NOL in 2009 cannot be carried back against 2006 taxable income. The NOL carryforward remaining in 2009 is $65,000 ($100,000 – $15,000 – $20,000).

In 2010, the $65,000 NOL carryforward will be offset against the $50,000 taxable 
income for the year. No income tax will be paid in 2010, and there will remain a $15,000 ($65,000 – $50,000) NOL carryforward from 2009.

In 2011, there is no taxable income against which the $200,000 NOL can be carried back; the $50,000 in taxable income in 2010 was offset against the NOL carryforward from 2009. So, the entire $200,000 NOL from 2011 is carried forward. The NOL carryforward is worth $80,000 ($200,000 ( 0.40) in future tax benefits. The appropriate 
journal entry is as follows:


Deferred Tax Asset—NOL Carryforward

80,000



Income Tax Benefit—NOL Carryforward


80,000

PRACTICE 16–16
(Concluded)

Of course, one must assume that it is more likely than not that future taxable income will be sufficient, within the 20-year carryforward period, to allow the company to 
utilize the $215,000 in NOL carryforwards ($15,000 remaining from 2009 plus $200,000 from 2011). With the company’s rocky recent past, this may not be a reasonable 
assumption.

PRACTICE 16–17
SCHEDULING FOR ENACTED FUTURE TAX RATES

The $4,000 taxable temporary difference created in 2008 will reverse partially in 2011, with the remainder reversing in 2012. As seen in the solution to Practice 16–5, the pattern of the creation and reversal of this temporary difference is as follows:



Temporary



Difference



Creation



(reversal)


2008
$ 4,000


2009
2,000


2010
0


2011
(2,000)


2012
(4,000)

The income tax expected to be paid when the $4,000 temporary difference from 2008 reverses is computed as follows:



Temporary



Difference



Creation

Additional



(reversal)
Tax Rate
Income Tax


2011
$(2,000)
35%
$
700


2012
(2,000)
30

600





$
1,300

The necessary journal entry to record income tax expense in 2008 is as follows:


Income Tax Expense

5,300



Income Tax Payable


4,000



Deferred Tax Liability


1,300

PRACTICE 16–18
REPORTING DEFERRED TAX ASSETS AND LIABILITIES

1.
The $120 deferred tax asset is related to a current item (trading securities). The $320 deferred tax liability is related to a noncurrent item (equipment). Accordingly, the deferred tax asset and liability should not be netted against one 
another for reporting purposes. In the balance sheet, the company would report a current deferred tax asset of $120 and a noncurrent deferred tax liability of $320.

2.
Deferred tax asset:



Unrealized loss on trading securities

$120


Deferred tax liability:



Depreciation

$320

PRACTICE 16–19
COMPUTATION OF EFFECTIVE TAX RATE

Effective tax rate 
=
Income tax expense/Pretax financial income


=
$17,100/$50,000


= 
34.2%

PRACTICE 16–20
RECONCILIATION OF STATUTORY RATE AND EFFECTIVE RATE

Sales



$50,000

Add:
Interest revenue from municipal bonds




6,000





$56,000

Deduct:



Depreciation expense

$
20,000



Expenses not deductible for tax purposes



15,000



Warranty expenses



12,000

47,000
Pretax financial income



$
9,000

Add (deduct) permanent differences:



Nontaxable interest revenue on municipal bonds

$
(6,000)



Nondeductible expenses


15,000

9,000
Financial income subject to tax


$18,000

Add temporary difference on warranty expenses

$
9,000

Deduct temporary difference for excess depreciation


(10,000)

(1,000)

Taxable income



$17,000
1.
Effective tax rate 
=
Income tax expense/Pretax financial income



=
($18,000 × 0.35)/$9,000



=
$6,300/$9,000



=
70.0%

PRACTICE 16–20
(Concluded)

2.



Amount

Rate


Pretax financial income
$  9,000
Income tax at statutory rate of 35.0%
$  3,150
35.0%

Nontaxable interest revenue
(2,100)
(23.3%)

Nondeductible expenses
    5,250
  58.3%

Income tax expense
$  6,300
  70.0%

PRACTICE 16–21
DEFERRED TAXES AND OPERATING CASH FLOW


Net income

$10,000


Plus: Depreciation

2,000


Less: Increase in accounts receivable

(1,200)


Plus: Decrease in inventory

850


Less: Decrease in accounts payable

(300)


Plus: Increase in income taxes payable

40


Plus: Increase in deferred tax liability


1,430

Cash flow from operating activities

$12,820
PRACTICE 16–22
CASH PAID FOR INCOME TAXES

Compute the current portion of income tax expense. The deferred portion does not need to be paid.


Total income tax expense

$40,000


Less: Deferred tax expense ($100,000 – $75,000)


25,000


Current income tax expense

$15,000
Compute how much of the current expense was paid in cash this year.


Beginning balance in income taxes payable

$17,000


Plus: Current year’s tax bill


15,000


Total payable

$32,000


Less: Ending balance in income taxes payable


13,000


Cash paid for income taxes

$19,000
EXERCISES

16–23.




Deferred Tax Asset


Type of Difference

or Liability



(a)
Temporary
Deferred tax liability


(b)
Temporary
Deferred tax liability


(c)
Nondeductible
Not applicable


(d)
Temporary
Deferred tax asset


(e)
Temporary
Deferred tax asset


(f)
Nontaxable
Not applicable

16–24.

Pretax financial income

$
3,100,000

Permanent differences:


Add: Life insurance premium

$
95,000


Less: Municipal bond interest


30,000

65,000
Pretax financial income subject to tax


$
3,165,000

Timing differences:


Add: 
Rent collected in advance of period earned

$
75,000



Warranty provision in excess of payments 



made


40,000

115,000



$
3,280,000


Less: 
Tax depreciation in excess of book 



depreciation

$
150,000



Installment sales income on books in excess



of taxable income

 
130,000

280,000
Taxable income

$
3,000,000
16–25.

1.
Income Tax Expense

192,500



Income Taxes Payable

178,500



Deferred Tax Liability—Current

14,000


Income tax expense: Current (0.35 ( $510,000) + Deferred 
(0.35 ( $40,000) = $192,500

2.
Income Tax Expense (0.35 ( $40,000)*

14,000



Deferred Tax Liability—Current

14,000


*Alternate computation:


  $80,000 ( 0.35 = $28,000; $28,000 – $14,000 = $14,000

16–26.

1.
Current asset section:

Deferred tax asset

$
9,600*


Noncurrent asset section:

Deferred tax asset

$38,400†


*($120,000 ( 0.20) ( 0.40 = $9,600

†($120,000 ( 0.80) ( 0.40 = $38,400

2.
Current asset section:

Deferred tax asset

$
9,600

Less: Valuation allowance


(2,880)* 

$
6,720

Noncurrent asset section:

Deferred tax asset

$38,400

Less: Valuation allowance


(11,520)†



$26,880
COMPUTATIONS:

Total valuation allowance:

$48,000 – ($48,000 ( 0.70) = $14,400

*$14,400 ( 0.20 = $2,880

†$14,400 ( 0.80 = $11,520

16–27.

1.
Deferred Tax Asset—Current

10,000

Income Taxes Payable


4,000

Income Tax Benefit


6,000


Income tax benefit: Current expense (0.40 ( $10,000) – Deferred benefit (0.40 ( $25,000) = $6,000
2.
One source of taxable income through which the benefit of the deferred tax asset can be realized is through the NOL carryback provision in the income tax laws. If Fulton has tax losses in the next 2 years, they may be carried back against the $10,000 in 2008 taxable income. Another source of potential 
taxable income is income from the sale of appreciated assets. Statement No. 109 stipulates that both positive and negative evidence be considered when determining whether deferred tax assets will be fully realized and thus whether a valuation allowance is necessary. Examples of negative evidence include unsettled circumstances that might cause a company to report losses in future years.

16–28.

1.
Deferred Tax Asset—Current (0.40 ( $28,000)

11,200

Income Taxes Payable


9,200

Income Tax Benefit


2,000


Income tax benefit: Current expense (0.40 ( $23,000) – Deferred benefit (0.40 ( $28,000) = $2,000

2.
If future taxable income is zero, the only source of taxable income through which the benefit of the deferred tax asset can be realized is the $23,000 
taxable income for 2008 via the carryback provisions. Thus, the deferred tax asset must be reduced by a valuation allowance for the tax effect of the $5,000 ($28,000 – $23,000) in tax benefits that are unlikely to be realized. The following entry would be added to those already given in (1):

Income Tax Benefit (0.40 ( $5,000)

2,000

Allowance to Reduce Deferred Tax Asset to 

Realizable Value—Current


2,000

16–29.

1.
Income Tax Expense

20,000

Income Taxes Payable


6,000

Deferred Tax Liability—Noncurrent


14,000


Income tax expense: Current (0.40 ( $15,000) + Deferred [(0.40 ( $155,000) – $48,000] = $20,000

2.
Deferred Tax Liability—Noncurrent

12,400

Income Tax Benefit—Rate Change


12,400

[(0.40 ( $155,000) – (0.32 ( $155,000);



or (0.40 – 0.32) ( $155,000]

16–30.

Income Tax Expense

209,200

Income Taxes Payable


181,200*

Deferred Tax Liability—Noncurrent


28,000


Income tax expense: Current ($181,200) + Deferred (0.40 ( $70,000) = $209,200

*Pretax financial income

$
621,000

Less: Interest revenue (permanent difference)


98,000
Pretax financial income subject to income tax

$
523,000

Deduct: Excess of tax depreciation over book


depreciation ($650,000 – $580,000)


70,000
Taxable income

$
453,000

Income tax rate

(

0.40
Income taxes payable

$
181,200
16–31.
Income Tax Expense

30,600

Income Taxes Payable


30,600

[($35,000 + $55,000) ( 0.34]

Deferred Tax Asset—Current

5,100

Deferred Tax Asset—Noncurrent

12,560

Income Tax Benefit


17,660


The income tax benefit account offsets the income tax expense account.




Enacted
Deductible
Asset





Rate


Amount

Valuation

2009
34%
$15,000
$
5,100


2010
30

20,000

6,000


2011
30

12,000

3,600


2012
37

8,000

2,960



$55,000
$17,660


Because the unearned rent revenue account under these conditions would be reported as part current and part noncurrent, the deferred tax asset would be classified in the same pattern. The current deferred taxes balance would be $5,100 and the noncurrent is $12,560 ($17,660 – $5,100).



Because it is assumed that in each year from 2009–2012 there is sufficient income to equal the temporary difference reversal, the carryback and carryforward rules would not be needed, and the tax rate applied to each reversal would be the marginal tax rate for each year.

16–32.
Income Tax Expense

24,400

Income Taxes Payable


24,400

[($40,000 + $25,000 – $22,000 + $18,000) ( 0.40]

Deferred Tax Asset—Current

5,940

Income Tax Expense

1,170

Deferred Tax Liability—Current


1,750

Deferred Tax Liability—Noncurrent


5,360



Enacted
Deductible
Asset
Taxable
Liability




Rate


Amount

Valuation
Amount
Valuation
2009
35%
$
6,000
$2,100
$
5,000
$1,750

2010
32

12,000
3,840

7,000

2,240

2011
30

—
—

4,000

1,200

2012
32

—

—

6,000

1,920



$18,000
$5,940
$22,000
$7,110

16–32.
(Concluded)

Current items:


Deferred tax asset


$5,940


(underlying asset is current)


Deferred tax liability


1,750

Net deferred tax asset


$4,190

Noncurrent items:


Deferred tax liability ($7,110 – $1,750)


$5,360

16–33.
Income Tax Expense

331,600

Income Taxes Payable


331,600

($829,000 ( 0.40)

Deferred Tax Asset—Current

50,000

Income Tax Expense.

88,000

Deferred Tax Liability—Current


106,000

Deferred Tax Liability—Noncurrent


32,000

COMPUTATIONS:


Current items:

Deferred tax liability ($265,000 ( 0.40)

$106,000

(underlying asset is current) 

Deferred tax asset ($125,000 ( 0.40)


50,000
(underlying liability is current)

Net deferred tax liability

$
56,000
Noncurrent items:

Deferred tax liability ($80,000 ( 0.40)

$
32,000

(underlying asset is noncurrent)


(Note:
In connection with the deferred tax asset, no assumption about 
future income is necessary because the taxable temporary differences are sufficient to allow for complete recognition of the deferred tax asset.)

16–34.

1.
Income Tax Expense

10,500

Income Taxes Payable


10,500

($30,000 ( 0.35)

Deferred Tax Asset—Noncurrent

11,440

Income Tax Benefit


11,440


The income tax benefit account offsets the income tax expense account.

16–34.
(Concluded)




Enacted
Deductible
Asset





Rate


Amount

Valuation


2009
34%
$
8,000
$
2,720



2010
30

12,000

3,600



2011
32

16,000

5,120




$36,000
$11,440

2.
If taxable income in future periods is more likely than not to be zero and in the absence of taxable temporary differences, the one source of taxable 
income through which to recognize the tax benefit of the deductible amounts is by carrying them back and applying them against 2008 taxable income. Deductible amounts totaling $20,000 can be carried back, yielding a tax benefit of $7,000 ($20,000 ( 0.35). The carryback amount is restricted to $20,000 ($8,000 + $12,000) because losses can be carried back only two years. Note that because the tax benefit is realized through carryback to 2008, the 2008 tax rate is used to compute the amount of the tax benefit. A valuation allowance is needed to reduce the deferred tax asset to its realizable amount. The following journal entry would be added to those given in (1):

Income Tax Benefit

4,440
Allowance to Reduce Deferred Tax

Asset to Realizable Value—Noncurrent


4,440
($11,440 – $7,000)

16–35.

1.
Income Tax Expense

30,000


Income Taxes Payable


30,000

($75,000 ( 0.40)

Deferred Tax Asset—Noncurrent

30,180

Income Tax Benefit


30,180


The income tax benefit account offsets the income tax expense account.




Enacted
Deductible
Asset





Rate


Amount

Valuation


2009
35%
$14,000
$
4,900



2010
32

24,000

7,680



2011
30

16,000

4,800



2012
32

40,000

12,800




$94,000
$30,180

16–35.
(Concluded)

2.

If taxable income in future periods is more likely than not to be zero, and in the absence of taxable temporary differences, the one source of taxable 
income through which to recognize the tax benefit of the deductible amounts is by carrying them back and applying them against 2008 taxable income. However, recall that the tax code allows carryback for only 2 years. Accordingly, the $40,000 deductible amount in 2012 and the $16,000 deductible amount in 2008 will not be realizable because it cannot be carried back and offset against 2008 taxable income. Deductible amounts totaling $38,000 ($14,000 + $24,000) can be carried back, yielding a tax benefit of $15,200 ($38,000 ( 0.40). Note that because the tax benefit is realized through carryback to 2008, the 2008 tax rate is used to compute the amount of the tax benefit. A valuation allowance is needed to reduce the deferred tax asset to its realizable amount. The following journal entry would be added to those given in (1):

Income Tax Benefit

14,980

Allowance to Reduce Deferred Tax

Asset to Realizable Value—Noncurrent


14,980

($30,180 – $15,200)

16–36.

1.

Calculation of refund due:




Amount of 2008
Income
Amount of Refund




Loss Applied
Tax
Due from Prior


Year

Income

against Income

Rate


Years




2006

$230,000

$230,000
42%
$ 
96,600



2007

310,000

310,000
35

108,500



$540,000
$540,000

$205,100

(Note: The loss in 2008 can be carried back for only 2 years. Thus, it cannot be offset against taxable income reported in 2005.)

Amount of 2008 loss available for carryforward to future years:

2008 net operating loss

$
820,000

Less: Amount applied against prior years’ income


540,000
Amount available for carryforward

$
280,000

16–36.
(Concluded)

2.
Income Tax Refund Receivable

205,100


Income Tax Benefit from NOL Carryback


205,100

To record refund from applying operating 

loss carryback.

Deferred Tax Asset from NOL Carryforward

95,200


Income Tax Benefit from NOL Carryforward


95,200

($280,000 ( 0.34 = $95,200)

3.
Net operating loss before income tax benefit

$
820,000


Income tax benefit from NOL carryback and carryforward.


300,300

Net loss

$
519,700
16–37.

1.
Refund due: $45,000 + $9,000 = $54,000

(Note: The loss in 2008 can be carried back for only 2 years. Thus, it cannot be offset against taxable income reported in 2005.)

Carryforward: $1,000,000 – $150,000 – $30,000 = $820,000

2.
Income Tax Refund Receivable

54,000

Income Tax Benefit—NOL Carryback


54,000

Deferred Tax Asset* ($820,000 ( 0.40)

328,000


Income Tax Benefit—NOL Carryforward


328,000

*Classification of the deferred tax asset depends on the expected timing of 
the utilization of the NOL carryforward.

3.
With Lexis’ downward trend in income in recent years, it is questionable whether the NOL carryforward will ever be used. Even assuming that profitability is restored to the 2006 level, it will take more than 5 years to fully utilize the NOL carryforward. Thus, it seems more likely than not that at least some portion of the NOL carryforward will expire unused. Further evidence would be needed to estimate an appropriate valuation allowance.

16–38.

Cash flow from operations:


Increase in income taxes payable

$
6,000


Decrease in deferred tax liability

(8,000)


Supplemental disclosure to the statement of cash flows should also report $26,000 cash paid for income taxes ($32,000 current – $6,000 increase in income taxes payable).

16–39.

1.
Cash flow from operations:


Increase in deferred tax asset

$(31,000)


Increase in income tax refund receivable


(10,000)


Supplemental disclosure to the statement of cash flows should also report $5,000 cash refund received for income taxes ($5,000 due at the end of 2007).

2.
Cash received from income tax refund

$
5,000

PROBLEMS

16–40.

2008
Income Tax Expense

17,680

Income Taxes Payable


11,520

Deferred Tax Liability—Noncurrent


6,160

Income tax expense: Current (0.40 ( $28,800) + Deferred (0.40 ( $15,400) = $17,680



(Classification Note: The deferred tax liability is classified 

as noncurrent because the underlying receivable, to be 

collected in 2010, is noncurrent as of December 31, 2008.)

2009
Income Tax Expense

8,640

Income Taxes Payable


8,640

($21,600 ( 0.40)

Income Tax Expense

6,640

Deferred Tax Liability—Current


6,640

[($15,400 + $16,600) ( 0.40] – $6,160 = $6,640

Deferred Tax Liability—Noncurrent

6,160

Deferred Tax Liability—Current


6,160

To reclassify deferred tax liability recorded in 2008 

because the underlying receivable is current as of 

December 31, 2009.

2010
Income Tax Expense

21,240

Income Taxes Payable


21,240

($53,100 ( 0.40)

Deferred Tax Liability—Current

12,800

Income Tax Benefit


12,800

($6,640 + $6,160 = $12,800)

The income tax benefit account offsets the income tax expense account.

16–41.

1.
Taxable income

$
1,996,000


Add temporary difference:

Tax depreciation in excess of book depreciation


275,000
Pretax financial income subject to tax

$
2,271,000

Add permanent differences:

Proceeds from life insurance policy


$125,000

Interest revenue on municipal bonds


98,000

223,000
Pretax financial income

$
2,494,000
16–41.
(Concluded)

2.

2008
Income Tax Expense

798,400

Income Taxes Payable

798,400

($1,996,000 ( 0.40)


Income Tax Expense

110,000

Deferred Tax Liability—Noncurrent

110,000

($275,000 ( 0.40)

3.

Tristar Corporation

Partial Income Statement

For the Year Ended December 31, 2008

Income from continuing operations before income taxes

$
2,494,000

Income taxes on continuing operations:

Current provision

$
798,400

Deferred provision


110,000

908,400
Net income



$
1,585,600

16–42.

1.
Income Tax Expense

27,000

Income Taxes Payable


27,000

($67,500 ( 0.40)

Pretax financial income

$
90,000

Nondeductible expenses


25,000

Nontaxable revenues


(15,500)

Gross profit on installment sales


(32,000)

Taxable income

$
67,500
Income Tax Expense

10,445

Deferred Tax Liability—Current


2,450

Deferred Tax Liability—Noncurrent


7,995




Enacted
Taxable
Liability





Rate

Amount
Valuation


2009
35%
$
7,000
$
2,450



2010
33

16,500


5,445



2011
30

8,500


2,550




$32,000
$
10,445


(Classification Note: The receivable from the installment sale would be classified according to the time of its expected collection. At December 31, 2008, $7,000 would be classified as current and $25,000 as noncurrent. The classification of the deferred tax liability mirrors this split.)

16–42.
(Concluded)

2.
Olympus Motors, Inc.


Partial Income Statement


For the Year Ended December 31, 2008

Income from continuing operations before income taxes

$90,000

Income taxes on continuing operations:

Current provision

$
27,000

Deferred provision



10,445

37,445
Net income



$52,555
16–43.

1.
Income Tax Expense

22,800

Income Taxes Payable





22,800

[(–$15,000 + $55,000 + $20,000) ( 0.38]


Deferred Tax Asset—Current

6,480


Deferred Tax Asset—Noncurrent

17,760

Income Tax Benefit




24,240

The income tax benefit account offsets the income tax expense account.




Enacted
Deductible
Asset





Rate


Amount

Valuation


2009
36%
$18,000
$
6,480



2010
32

33,000

10,560



2011
30

19,000

5,700



2012
30

5,000

1,500




$75,000
$24,240


Because both unearned rent revenue and estimated warranty liability accounts are usually separated into current and noncurrent classifications, the expected reversal dates would be used to separate the $24,240 deferred tax asset into current and noncurrent portions; $6,480 would be classified as current and $17,760 as noncurrent.

2.
Davidson Gasket Inc.


Partial Income Statement


For the Year Ended December 31, 2008

Loss from continuing operations before income taxes




$
(15,000)

Income taxes on continuing operations:

Current provision

$
(22,800)

Deferred benefit


24,240

1,440
Net loss


$
(13,560)

16–43.
(Concluded)

3.
One source of taxable income through which the benefit of the deferred tax asset can be realized is through the NOL carryback provision in the income tax laws. If Davidson has tax losses in the next 2 years, they may be carried back against the $60,000 in 2008 taxable income. Another source of potential taxable income is 
income from the sale of appreciated assets. Statement No. 109 stipulates that both positive and negative evidence be considered when determining whether 
deferred tax assets will be fully realized and thus whether a valuation allowance is necessary. Examples of negative evidence include unsettled circumstances that might cause a company to report losses in future years.

16–44.

1.
Income Tax Expense ($57,000* ( 0.40)

22,800

Income Taxes Payable


22,800

*$100,000 – $60,000 + $17,000 = $57,000 taxable income

Deferred Tax Asset—Current ($5,000 ( 0.40)

2,000

Deferred Tax Asset—Noncurrent ($12,000 ( 0.40)

4,800

Income Tax Expense

17,200

Deferred Tax Liability—Current ($20,000 ( 0.40)


8,000

Deferred Tax Liability—Noncurrent ($40,000 ( 0.40)


16,000


For disclosure purposes, the current deferred tax asset and liability would be netted against one another, resulting in the reporting of a net current deferred tax 
liability of $6,000. In addition, the noncurrent deferred tax asset and liability would be netted, resulting in the reporting of a net noncurrent deferred tax liability of $11,200.

Current items:

Deferred Tax Asset

$
2,000

Deferred Tax Liability



8,000
Net Deferred Tax Liability—Current

$
6,000
Noncurrent items:

Deferred Tax Asset


$4,800

Deferred Tax Liability


16,000
Net Deferred Tax Asset—Noncurrent

$
11,200

16–44.
(Concluded)

2.
Income Tax Expense ($57,000* ( 0.40)

22,800

Income Taxes Payable


22,800

*$100,000 – $60,000 + $17,000 = $57,000 taxable income


Income Tax Expense

17,200


Deferred Tax Asset—Current ($17,000 ( 0.40)

6,800

Deferred Tax Liability—Noncurrent ($60,000 ( 0.40)


24,000


In both (1) and (2), no valuation allowance is needed because 2008 taxable 
income and the existing taxable temporary differences are sufficient to allow for full realization of the deferred tax assets.

16–45.

1.
Income Tax Expense

8,000

Income Taxes Payable


8,000

[($40,000 – $50,000 – $20,000 + $50,000) ( 0.40]

Deferred Tax Asset—Current

3,150

Deferred Tax Asset—Noncurrent

12,630

Income Tax Benefit


9,390

Deferred Tax Liability—Current


1,750

Deferred Tax Liability—Noncurrent


4,640

The income tax benefit account offsets the income tax expense account.


Enacted
Deductible
Asset
Taxable
Liability



Rate


Amount

Valuation
Amount
Valuation

2009
35%
$
9,000
$
3,150
$
5,000
$1,750


2010
32

16,500

5,280

7,000

2,240


2011
30

20,500

6,150

2,000

600


2012
30

4,000

1,200

6,000

1,800



$50,000
$15,780
$20,000
$6,390

Because both the installment sale receivable and the estimated warranty liability are usually separated into current and noncurrent classifications, the expected reversal dates would be used to separate the deferred tax asset and liability into current and noncurrent portions.

Current items:

Deferred Tax Asset

$
3,150

Deferred Tax Liability



1,750
Net Deferred Tax Asset—Current

$
1,400
Noncurrent items:

Deferred Tax Asset ($15,780 – $3,150)


$12,630

Deferred Tax Liability ($6,390 – $1,750)


4,640
Net Deferred Tax Asset—Noncurrent

$
7,990

16–45.
(Concluded)

2.
Stratco Corporation


Partial Income Statement


For the Year Ended December 31, 2008

Income from continuing operations before income taxes




$40,000

Income taxes on continuing operations:

Current provision

$
8,000

Deferred benefit


(9,390)

1,390
Net income


$41,390
16–46.

1.
Income Tax Expense ($11,000 ( 0.35)

3,850

Income Taxes Payable


3,850

Income Tax Expense ($24,000 ( 0.35)

8,400

Deferred Tax Liability—Noncurrent


8,400

Deferred Tax Asset—Current ($13,000 ( 0.35)

4,550

Income Tax Benefit


4,550

The income tax benefit account offsets the income tax expense account.


The deferred tax liability and the deferred tax asset are not netted against one 
another on the balance sheet because the liability is noncurrent and the asset is current.

2.
All entries would be the same. If future taxable income is zero, the two sources of taxable income through which the benefit of the deferred tax asset can be realized are the $11,000 taxable income for 2008 through the carryback provisions and the $24,000 in existing taxable temporary differences that will reverse in the future. These two sources are sufficient to realize the entire amount of the deferred tax asset, and no valuation allowance is needed.

16–47.

1.

Before


After


Tax Rate

Tax Rate



Decrease



Decrease

Deferred Tax Liability—Noncurrent
$44,000

$37,400


($110,000 ( 0.40)
($110,000 ( 0.34)

Deferred Tax Liability—Noncurrent ($44,000 – $37,400)

6,600

Income Tax Benefit—Rate Change


6,600

16–47.
(Concluded)

2.

Before

After


Tax Rate

Tax Rate



Increase



Increase

Deferred Tax Liability—Noncurrent
$44,000
$50,600


($110,000 ( 0.40) 
($110,000 ( 0.46)

Income Tax Expense—Rate Change

6,600

Deferred Tax Liability—Noncurrent

($50,600 – $44,000)


6,600

16–48.

1.
Tax refund claim is as follows:



Amount of

Amount of Refund



Loss Applied
Income
Due from Prior


Year

to Income

Tax Rate
Years’ Income Taxes

2006

$33,100
40%

$13,240


2007

22,500
34

7,650
Amount of income tax refund due Aruban

$20,890

(Note: The operating loss of $94,300 can be carried back only to 2006 and 2007.)

2.
Operating loss carryforward:

($94,300 – $33,100 – $22,500) = $38,700


The expected tax benefit from the $38,700 NOL carryforward would be reported as an asset. It would be valued using the enacted tax rate expected to prevail when the NOL carryforward is used. For example, if the enacted tax rate for all future periods is 30%, the following journal entry would be recorded:

Deferred Tax Asset from NOL Carryforward

11,610

Income Tax Benefit from NOL Carryforward


11,610

($38,700 ( 0.30)


This deferred tax asset would be reduced by a valuation allowance if it were deemed more likely than not that taxable income in the carryforward period would not be sufficient to fully realize the tax benefit.


The deferred tax asset would be classified current or noncurrent, according to the expected time of its realization.

16–48.
(Concluded)

3.
(a)
Tax refund claim is as follows:



Amount of

Amount of Refund



Loss Applied
Income
Due from Prior


Year

to Income


Tax Rate

Years’ Income Taxes

2006

$33,100
40%

$13,240


2007

5,900
34

2,006



$39,000

$15,246

Income Tax Refund Receivable

15,246

Income Tax Benefit from NOL Carryback


15,246


(b)




Amount
Amount




Used by
Available



Taxable and Pretax
2008
for 2009


Year

Financial Income

Net Loss
Net Loss

2007

$22,500

$5,900
$
16,600


2008

(39,000)

0

0

2009 operating loss carryback

$
16,600

2009 operating loss carryforward


11,400
2009 total operating loss

$
28,000
16–49.

1.
Tax refund claim is as follows:



Amount of 2002

Amount of Refund



Loss Applied
Income
Due from Prior


Year

to Income


Tax Rate

Years’ Income Taxes

2000

$12,300
50%
$
6,150


2001

11,950
44

5,258



$24,250

$11,408

Income tax refund due in 2002

$11,408

Amount of operating loss carryforward

0



Amount of 2004

Amount of Refund



Loss Applied
Income
Due from Prior


Year

to Income


Tax Rate

Years’ Income Taxes

2002
$
0
44%
$
0


2003

7,200
44

3,168



$
7,200

$
3,168

16–49.
(Concluded)

Income tax refund due in 2004

$3,168

Amount of operating loss carryforward:

($21,750 – $7,200)

$14,550
(applied to 2005







 income)



Amount of 2007

Amount of Refund



Loss Applied
Income
Due from Prior


Year

to Income


Tax Rate

Years’ Income Taxes

2005
$
2,050*
46%
$
943


2006

32,000
40

12,800


$34,050

$13,743

Income tax refund due in 2007

$13,743

Amount of loss carryforward:

($58,700 – $2,050 – $32,000)

$24,650


*There is $2,050 available at December 31, 2007, because $14,550 is used by the operating loss carryforward from 2004 ($16,600 – $14,550 = $2,050).

2.
The expected tax benefit from the NOL carryforward would be reported as an 
asset. It would be valued using the enacted tax rate expected to prevail when the NOL carryforward is used. The deferred tax asset would be reduced by a valuation allowance if it were deemed more likely than not that taxable income in the carryforward period would not be sufficient to fully realize the tax benefit. The 
deferred tax asset would be classified current or noncurrent, according to the 
expected time of its realization.

3.
Income taxes paid, 2005 and 2008:

2005 net income


$16,600

Less: Loss carryforward from 2004


14,550
Taxable income

$
2,050

Tax rate

(
46%
Income taxes paid

$
943
2008 net income 


$65,000

Less: Loss carryforward from 2007


24,650
Taxable income


$40,350

Tax rate

(
40%
Income taxes paid


$16,140
4.
Because the benefit of the net operating loss carryforward was recognized in 2007, there would be no credit to income tax expense in 2008. The entry to record the income tax liability would be as follows:

Income Tax Expense ($65,000 ( 0.40)

26,000

Income Taxes Payable [see (3)]


16,140

Deferred Tax Asset—NOL Carryforward ($24,650 ( 0.40)


9,860

16–50.

1.
The correct answer is b. A company will net current deferred tax assets against current deferred tax liabilities and noncurrent deferred tax assets against 
noncurrent deferred tax liabilities. As a result, Bren would offset the $3,000 
noncurrent deferred tax asset against the $15,000 noncurrent deferred liability and report a net noncurrent deferred tax liability of $12,000. The current deferred tax asset of $8,000 will be reported separately in the Current Assets section of the balance sheet.

2.
The correct answer is a. The provision for current income taxes is calculated by multiplying taxable income of $150,000 by the tax rate of 30%, giving an amount of $45,000.

CASES

Discussion Case 16–51

This case introduces students to the long-standing debate over the merits of interperiod tax allocation. The principal issue is whether income taxes are an expense that should be accrued or an annual assessment made against income as defined by the government at rates determined each year.

Those who defend interperiod tax allocation might argue as follows:

1.
Income taxes are an expense of doing business. If revenues are reported to the government on a timing basis that is different from that used for the general-purpose financial statements, a proper matching of expenses with revenues requires interperiod tax allocation. The current income tax 
expense should be computed on the basis of the reported financial income, not on the basis of the taxable income. A proper matching of expense against revenue is possible only if this approach is used.

2.
The fact that the total balance of deferred income taxes continues to grow is irrelevant. In a growing company, all accounts increase. The total accounts payable grows, yet individual balances are paid according to the contractual terms. This is also true of deferred income tax assets and liabilities. 
Individual timing differences always reverse, or they would not be timing differences.

3.
Generally accepted accounting principles require interperiod tax allocation. If Hurst desires audited statements, it must comply with currently accepted GAAP.

4.
If taxes were charged to expense as paid, net income would not be comparable across years. Treatment of revenues and expenses on the books that is different from that used on the tax returns could be applied so as to manipulate reported net income and possibly mislead statement users.

Those who are opposed to interperiod tax allocation might argue as follows:

1.
The deferral is not a liability. There is no obligation to pay any amount in the future. Payment is 
contingent on the earning of income, the continuity of operations, and the tax laws in effect when the items reverse. Many analysts recognize the “softness” of this amount by excluding it from 
analysis.

2.
If deferral is to be followed, it should be in terms of a partial allocation, not a comprehensive one. Only those timing differences that are nonrecurring in nature should be deferred. The type of timing difference that recurs will never be liquidated in total. Therefore, it gives rise to large balances on the financial statements that have little meaning.

3.
Income taxes are a charge made against businesses annually. Tax laws are designed to raise revenue and to control the economy. The amounts are determinable each year by legislative bodies. 
Income taxes are really divisions of business profits, not an expense of doing business.

Class discussion should be lively for this case. Instructors are encouraged to explore these arguments with the students.

Discussion Case 16–52

1.
The theoretical basis for deferred income taxes under the asset and liability method includes the following concepts:

(a)
Deferred tax accounting requires that a current or deferred tax liability or asset be recognized for the current or deferred tax consequences of all events that have been recognized in the financial statements. The asset or liability created must meet the definitions of Concepts Statement No. 6.

(b)
The current or deferred consequences of events are measured in accordance with provisions of enacted tax law.

(c)
Deferred tax assets are reduced by a valuation allowance if all available evidence indicates that it is more likely than not that the deferred tax asset will not be fully realized.

(d)
The recorded valuation of deferred tax liabilities and assets is changed in response to enacted changes in future tax rates.

2.
Reporting higher depreciation for tax purposes than for financial reporting purposes results in a taxable temporary difference. A deferred tax liability is recorded to represent the higher taxes that will be paid when the temporary difference reverses. The deferred tax liability is valued using the enacted tax rate expected to be in effect when the difference reverses. The deferred tax liability is classified as noncurrent since the underlying depreciable asset is noncurrent.


The rent revenue received in advance gives rise to a deductible temporary difference. A deferred tax asset is recorded to represent the fact that the taxes on the revenue have already been paid even though the revenue has not yet been recognized for financial reporting purposes. The deferred tax asset is valued using the enacted tax rate expected to be in effect when the difference reverses. The deferred tax asset is classified as current because the underlying unearned revenue liability is current. If it is more likely than not that part or all of the entire deferred tax asset will not be realized, the reported amount of the deferred tax asset is reduced by a valuation allowance.

Discussion Case 16–53

With the asset and liability approach to deferred taxes adopted by the FASB, a credit in the deferred tax account represents a liability, and, as such, the measurement of its value is an important issue. Conceptually, it seems clear that a deferred tax liability should reflect the time value of money. If not, then the 
advantage of deferring taxes until later periods is not reflected in the financial statements. The FASB 
decided not to consider the issue of discounting in Statement No. 109 for a variety of practical reasons. The implementation issues associated with the discounting of deferred taxes could be numerous and complex. 

For example, an appropriate discount rate would have to be specified. It was thought that discounting would add unnecessary complexity and that consideration of discounting of deferred taxes should be 
addressed in the broader context of discounted values in the financial statements.

Discussion Case 16–54

1.
The 1986 corporate tax rate reduction coincided with the adoption of FASB Statement No. 96 by many firms. Statement No. 96 incorporated the asset and liability method and, accordingly, required adjustment of the reported deferred tax asset and liability amounts in response to a change in the enacted tax rate. Recall also that Statement No. 96 disallowed the recognition of most deferred tax assets. Therefore, the large majority of firms using Statement No. 96 reported larger deferred tax 
liabilities than deferred tax assets. Consider how a reduction in tax rates would be recorded by a company with a deferred tax liability. The amount of the liability would be reduced through a journal entry like the following:

Deferred Tax Liability

XXX

Income Tax Benefit—Rate Change


XXX

As Congress considered raising the corporate tax rate in 1993, most firms had adopted or would soon adopt FASB Statement No. 109. Like Statement No. 96, Statement No. 109 also incorporates the asset and liability method. However, unlike Statement No. 96, Statement No. 109 allows for the recognition of most deferred tax assets. Therefore, the mix between firms with net deferred tax 
assets and those with net deferred tax liabilities is more equal. A tax rate increase would increase the recorded amounts of both deferred tax assets and liabilities and would be recognized through journal entries like the following:

Deferred Tax Asset

XXX

Income Tax Benefit—Rate Change


XXX

Income Tax Expense—Rate Change

XXX

Deferred Tax Liability


XXX

2.
It is clear that none of the journal entries needed to adjust a deferred tax asset or liability involve cash. Financial statement users sometimes mistakenly think of deferred tax liabilities, accumulated depreciation, and retained earnings as if they represent piles of cash tucked away somewhere.

Discussion Case 16–55

The carryback and carryforward provisions of the U.S. tax code impact the recognition of deferred tax 
assets but not the recognition of deferred tax liabilities. The realization of a deferred tax liability is not contingent on the existence of other future tax events. However, the realization of a deferred tax asset 
depends on the existence of future taxable income against which the deductible temporary difference can be offset. Possible sources of future taxable income include the following:


(a)
Future reversals of existing taxable temporary differences


(b)
Future taxable income


(c)
Taxable income in prior carryback years

Under Cardassian tax law, source (c) would be completely eliminated. In addition, sources (a) and (b) would be greatly restricted because, with no carrybacks and carryforwards, the future taxable income would have to occur in the exact year of the deductible temporary difference reversal. In summary, implementation of Statement No. 109 under Cardassian tax law (no carrybacks or carryforwards) would require careful scheduling of the reversal of temporary differences and careful forecasting of future taxable 
income to determine whether sufficient taxable income would exist in the exact years of deductible difference reversals.

Discussion Case 16–56

You may find it difficult to answer your friend’s perceptive question. FASB Statement No. 5 that establishes the standard for recognizing contingent liabilities was issued in the mid-1970s. It requires recognition of contingent liabilities only if it is probable the liability will have to be paid. No attempt was made in the statement or in later pronouncements to define the cutoff for probable. Research studies of statement users discovered a wide range of interpretations—from 50% to 99% probability. If a contingent liability is deemed to have only a reasonable possibility of occurrence, the contingent liability must be disclosed only in notes to the statements. FASB Statement No. 109 introduced for the first time the probability term “more likely than not.” The statement indicates that the cutoff for this term is 50%. Thus, contingent assets may be reported at a lower level than that used by many preparers for contingent liabilities. You must tell your friend that this difference has not been dealt with by the FASB as yet, although some accountants have suggested that the criteria for Statement No. 5 need to be reconsidered in light of the new term used in Statement No. 109. This case would make a good debate question or the basis for a written research assignment.

Discussion Case 16–57

This case gives students the opportunity to consider how difficult it can be in practice to decide whether a valuation allowance for deferred tax assets is necessary and how it might be measured. If a company has been experiencing financial difficulty and has had several loss years, the presumption would most likely be that an allowance would be required. “More likely than not” is defined as being above 50% probability. If a company has positive sales prospects, has a strong liquidity position, and past years have been profitable, the assumption would be that an allowance would not be required. In addition, to the extent that a company has profitable years to carry back an operating loss or has deferred tax liabilities against which 
deferred tax assets can be offset, a valuation allowance would not be required.

Case 16–58

1.
From the income statement we can determine that Disney reported income tax expense for the year ended September 30, 2004, of $1,197 million.

2.
Note 7 of Disney’s annual report breaks income tax expense into two parts: current and deferred. The portion of income tax expense related to current items totals $1,275 million, and the portion 
related to deferred items amounts to $(78) million.

3.
By dividing income tax expense ($1,197 million) by income before income taxes ($3,739 million), we can arrive at the 32.0% number.

4.
The journal entry establishing this allowance account would have involved a credit to the allowance account itself and a debit to Income Tax Expense.

5.
In Note 7, we see that the lower effective tax rate was caused primarily by two items—impact of 
audit settlements and foreign sales corporations. 

Case 16–58
(Concluded)

6.
Effective income tax rates can differ from company to company for many reasons, including the 
following:

a.
There are other nondeductible expenses and nontaxable revenues that would impact the effective tax rate.

b.
Some companies are based in, or do their business in, states that do not have an income tax. For example, the great state of Texas does not have an income tax. These companies would have a lower effective tax rate.

c.
For U.S. multinationals, there are also differing tax rates from country to country. These differing rates can cause a difference in effective tax rate.

7.
In general, differences in effective tax rates are caused by permanent differences. For example, in Disney’s case, the nondeductible intangible asset amortization will never be deductible, and Disney will never receive a return of the additional income taxes it pays to the states. In general, temporary differences (such as accelerated depreciation) do not cause a change in the effective tax rate 
because the computed income tax expense reflects the fact that these temporary differences will 
reverse in the future.

8.
All U.S. companies are required to give supplemental disclosure of cash paid for income taxes (and cash paid for interest). This information is sometimes in the notes and sometimes at the bottom of the cash flow statement. At the bottom of its cash flow statement, Disney reports that it paid $1,349 million in taxes in 2004.

9.
The deferred portion of income tax expense reflects the amount of income tax expense (included in the computation of net income) that is not legally due to be paid this year. In this case, the deferred portion of income tax expense is negative which represents taxes that are paid this year but were 
recorded in prior years. Thus, the deferred portion of income tax expense involves additional cash outflow. Using the indirect method, this amount must then be subtracted in the computation of cash flow from operating activities. Note that the cash flow statement amount of $78 million reconciles with the amount of deferred tax expense reported in Note 7. This perfect reconciliation is not always 
possible and can be frustrating. For example, the change in deferred taxes does not reconcile with the total change in the deferred tax accounts shown in Disney’s balance sheet. The differences arise from a host of events during the year, such as the acquisition of a new business (or the selling of an old business) that has deferred tax amounts associated with it.

Case 16–59

1.
From the information provided, we can see that Sara Lee reported income tax expense of $270 
million. Further disclosure indicates that this is split between current and deferred portions with $143 million being allocated to current and $127 million being allocated to deferred tax benefits. The journal entries to record this would have been (numbers in millions):


Income Tax Expense—Current

143


Income Taxes Payable 

143


Income Tax Expense—Deferred 

127


Deferred Tax Liability 

127

2.
As noted near the bottom of the information provided, Sara Lee paid $184 million in taxes for the year. The journal entry to record this event would have been (numbers in millions):


Income Taxes Payable

184


Cash

184

Case 16–60

1.
Net earnings $7,308 + Other comprehensive income items $879 = $8,187 

2.
Cash ($4,560 + $5,637 + $2,610)

12,807


Realized Gain

3,496


Investment Securities

9,311

3.
This is the amount of realized gains that are reclassified out of accumulated other comprehensive 
income and into retained earnings (via net earnings for the year).

4.
Investment Securities

2,599


Deferred Income Tax Liability

905


Other Comprehensive Income

1,694

The debit to Investment Securities could also be to a market adjustment account.

The net “Unrealized appreciation of investments” reported as part of Accumulated Other Comprehensive Income is $1,694, which is the amount of the increase in the value of the securities less the 
deferred taxes that are expected to be paid when these appreciated securities are sold.

Note that when this deferred income tax liability is recognized, there is no corresponding increase in income tax expense. This is because the deferred gain itself was not reported as part of net income. If these were trading securities, the $2,599 million would be recorded as a gain in the income 
statement, and income tax expense would be increased by $905 million.

Case 16–61

1.
$1.100 billion/0.330 = $3.333 billion

2.
$3.333 billion/57,000 employees = $58,474

3.
The stock option income tax benefit reduces the amount of cash paid for income taxes but does not reduce reported income tax expense. Recall that, with the indirect method, the computation of operating cash flow starts with Net Income. In the computation of Microsoft’s net income, the entire amount of income tax expense was subtracted. However, we now know that the amount of cash Microsoft had to pay for taxes was actually $1.100 billion less than the reported income tax expense. Accordingly, this amount is added back in the computation of operating cash flow. The classification of this adjustment is included in the Operating Activities section in accordance with EITF Issue No. 00–15. Before 2000, Microsoft reported this as an addition to cash flow from financing activities.

4.
This accounting for ESOs results in a reduction in income tax payable without a corresponding reduction in income tax expense. Thus, the “current taxes” amount of $4.996 billion reported by Microsoft is not what would be shown on this hypothetical worldwide income tax return. That amount would be reduced by the $1.100 billion in tax benefit associated with the ESOs. Thus, “Total tax for the year” for Microsoft for 2004 would be somewhere around $4.996 billion – $1.100 billion = $3.896 billion. This number is supported by the fact that the cash paid for taxes for Microsoft in 2004 was $2.5 billion (other factors also decrease the total tax), as shown just below the operating cash flow information.

Case 16–62

The objective of this assignment is to get students thinking about ways in which accounting principles and concepts differ around the world. In this case, the United Kingdom historically incorporated present value concepts in valuing deferred taxes while the United States has not. However, the rationale for not recognizing deferred taxes that will not crystallise breaks down when applied to accounts payable. Total 
accounts payable increases each year in a growing firm—the old accounts that are paid off are more than replaced by new accounts payable. Using the “crystallisation” concept, accounts payable could also be reported as $0 because the ultimate payoff of the entire balance is far in the future for a going concern.

This illustrates, the authors think, a hole in the old UK approach. The most theoretically correct approach is one that is midway between the U.S. and UK approaches—recognize all deferred tax liabilities (U.S.) but take into consideration the timing of the reversal in computing the present value of the deferred tax liability. As mentioned in the chapter, the Accounting Standards Board in the United Kingdom has dropped its partial recognition approach to deferred tax accounting.

Case 16–63

1.
The two objectives of accounting for income taxes are:


a.
Recognize the amount of taxes payable or refundable for the current year.


b.
Recognize deferred tax liabilities and assets for the future tax consequences of events that have been recognized in either the firm’s financial statements or the firm’s tax return.

2.
Total income tax expense (or benefit) for a year consists of two parts.  Those two parts are:


a.
Income taxes payable or refundable relating to the current year.


b.
Deferred tax expense or benefit, which is the change during the year of the company’s deferred tax assets and liabilities.

3.
The valuation allowance is designed to reduce any deferred tax assets to the amount that is more likely than not to be realized. The amount of the valuation allowance is determined by examining positive and negative evidence as discussed in paragraphs 23 and 24.

Case 16–64

In this case, the accountant is making projections about the future profitability of the company. If it is not expected that profits will be available against which previous losses can be offset, then a valuation allowance account must be used. If the accountant’s assessment of the future does not coincide with management’s, a debate between the two can result. Accountants must understand that their assumptions and estimates can have a material impact on the financial results of a company. In this case, using a valuation allowance account actually increases the amount of income tax expense reported, thereby 
increasing the amount of the reported loss.

Case 16–65

Solutions to this problem can be found on the Instructor’s Resource CD-ROM or downloaded from the Web at http://stice.swlearning.com.
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